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MOMENTO FLETOR

Mz =0
M- = 18,57*2,0 - 10,0*2,0*1,0 = 17,14/N-m]
Mg = 18,57*3 - 10*3*1,5-10,7*1,0=0

VG —

ESFORCO CORTANTE

VE2=0

Vet = 18,57 KM

V2 = 18,57-10*2 = -1,43 ]
Ved=-1,43-10,7 = -12,13 KNI
Vg2 =-12,13-10*1,0 = -22,13 <Nl
Ved=-2213+2213=0



DIAGRAMA MOMENTO FLETOR

10,7 kM
1. Kim]
SINEEEENEEA
- A
2,0 1,0 T
VEF: 18,57 [kh] Vg = 2|~2,13 [h]
5;118,57
AL ., DEC NI
i W TTTY

1,43 @

12,13LN

V2213

VIGA ©

DIAGRAMA ESFORCO

CORTANTE
10,7 (M
10 b
SIEEEEENE k
F ——
2,0 | 10 T
VET= 18,57 KNI F Vg = 2r2,13 kN]

=)

o DMF KN-m]

QT @
\‘ \ W\ @ A :

/
L Naxds =125

(qxP)/8 =5



VIcA® Ve = 18,57 ]

15,15 4/l
3,05 [k /m] 8,75 [kMfmn]

A.H?&H*C,HHA
+2=0 1 3,0 -‘. 3,0 11,%

Vg = 44,67 Vj, = 51,70 [V

MOMENTO FLETOR

MA = 0
Mg =-3,05"2,0"1,0=-6,10 [KN.m]
Mc = -3,05*2,0%4,0 + 44,67*3,0 - 15,15*3,0*1,5 = 41 144[kzr\‘l_m]

Mp = -3,05*2,0*7,0 + 44,676,0 - 15,15*3,0*4,5 - 8,75*3,0*1,5 = -18,58 [
Mg = -3,05*2,0%8,0 + 44,67*7,0 - 15,15*3,0*5,5 - 8,75*3,0"2,5 + 51,7*1=0

ESFORCO CORTANTE

Vg —|Vg? = 3,052 =-6,10 NI
Vgl =-6,1 + 44,67 = 38,57 [\

V. = 38,57 - 15,15*3,0 = -6,88 [N
Vp —|Vp? = -6,88 - 8,753 =-33,13 NI
Vpd =-33,13 + 51,70 = 18,57 KNI

Ve —|V2 = 18,57 KNI
Ved = 18,57 - 18,57 = 0
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VIGA ©
4 MI 82 39 [kN.m] Ve — VGa =0 KN

Vg = 22,13 + K] Vo =-22,13 N

Mirnwnio]

e \f§ Vi -V = -22,13 N

L1000 | 2,0 A Vy@=-2213-4=-2613KN

| | Vi = 34,13 V, -V = -26,13-4%2,0 =- 34,13 Nl

V8=-3413+3413=0
Mg =0

My =-2213*1,0=-2213 [kN.m]
M, —M2 =-22,13*3,0 -4*2,0 - 4*2,0%1,0 = -82,39 ["'™]

MI =-82,39 +82,39=0
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